
 

©
 G

re
at

 M
at

h 
W

or
ks

he
et

s.
 U

na
ut

ho
ri

ze
d 

co
py

in
g 

or
 re

pr
od

uc
tio

n 
of

 th
is

 w
or

ks
he

et
 is

 s
tr

ic
tly

 p
ro

hi
bi

te
d.

 

Simplifying Positive and 
Negative Numbers Part I

 Example: (-4) - (-38) + (-16) - 36	     Note: (+) × (+) = ‘+’
              = - 4 + 38 - 16 - 36			        (+) × (-) = ‘-’
	      = -18					          (-) × (+) = ‘-’
	  						           (-) × (-) = ‘+’

 1. Calculate the following.

a. (-3) - (-9) - 7

b. -42 + (-22) - 15 + 13	

c. 6 + (-10) - (-7) - (-5)

d. (-5) - 3.5 - 8 - (-17)  

e. -(-4) + (-4.3) - 8 + 1.3

f. -9 - 6.5 - 7 - (-15)

g. 5.25 + 2.75 - (-3.75) - 1.25

h. 4.35 + 1.53 - (-5.01) - 3.35 - 2.41

i.        -        - (-1      )

j. -(-       ) +        - (-1       )

k.         +        - (-       )

l. -(-       ) -        + (-       )

m. (-       ) + (-       ) + (-1      )
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n. (-       ) +         + (-1      )

o. (-       ) - (-       ) + (-       )

p. -(-       ) + (-1      ) - (-1      )
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Complete 2 pages (page 163 & 164) within 
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Simplifying Positive and Negative Numbers Part II

a. (-       ) +        + (-       )

b. -(-       ) + (-       ) - (-       ) 

c. -(-      ) + (-       ) - (-       ) 

d. 1       - 2        - (-       ) 

e. (-2      ) - (-2      ) + (-3      ) 
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f. -(-       ) - (-       ) + (-       )

g. (-1       ) + (-1      ) - (-      )

h. 1       - (-1      ) + (-       )
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j. -(-1      ) + (-2      ) + (-1       ) 

k. 1       - (-2      ) - 1       

l. 1       + 2        - 1

m. -1       + 2        -

n. -(-1      ) + (-3       ) +
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o. 1       + 3        -

p. -(-1      ) + (-3       ) - (-       ) 
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 2. Calculate the following.

i. -1       - (-2      ) + 1 1
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